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UH 1

gH 2.

- U3,

TH 4.

< A I HEEA & T H
A 145 § 1 X weaw gt -

&) 6,7
®) 7,8
© 8,9
® 9,10

22 1% et | §?
(&) 22
®) 44
© 45
@) 90

By il 1 T WY SO @R |

A W W UH FY A HI T
wifreRen &M ?

(A)
(B)

©

b 2O LN A=

o)

Tom wTa atferel o Tere wet Waler o
T ?
2,3,0,-1,1,5,6,4,5,8,11

(A) WIEG = Wi

By WG =5

(C) wfeehT = Sgh

(D) WIfEeRt = HIEA + Sgeh

Qnl.

Qn2.

Qn3.

OQn4.

The sum of squares of two successive
natural numbers is 145, The numbers
will be-

(A) 6,7

B) 7,8

© 8,9

D) 9,10

22 ; has how manyl?
(A) 22
(B) 44
(C) 45
D) 90

Two coins are tossed simultaneously.
What is the probability of having atleast

one head ?
(A)
(B)

©

B DWW BN e

®)

What is the correct relation in the given
data?

2,3,0,-1,1,5,6,4,5,8, 11

(A) Mean =Median

(B) Mean=35

(C) Median = Mode

(D) Median = Mean + Mode
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994 3.

J¥H 6.

H 7.

UH 8.

g 9.

fa=g (3, ~6) 3R (-2, 6) FHta !
it o g ?

(A 123

(B) 138
C) 1478
(D) 1538

afe st
17+15+13+ 11 +.... FAT72%
A St & U Wt U B -

(A) 6
®) 7
© 8
®) 9

qf& tan® + coth =3 WA
tan?0 + cot®9 = ?

(A) 7

®B) 9

© 1

D) 27

% Sing -1 =0 & @ 0 % WA
?FTT -

(a) 0°

(B) 90°

©) 30°

(D) 60°

Tk ufean 88 W &l G a9 A &
fer@ 100 9 gwaT ¥ | SHR W
T qm?
(A) 73,
(B) 149
(C) 229,
(D) 109,

Qn. 5. Whatis the distance between the points i ‘
(3, =6) and (-2, 6) ‘
(A) 12 unit ‘
(B) 13 unit
(C) 14 unit
D) 15 unit |

‘m6. If the sum of a progressian.
17415413+ 11 +... is 72, Then
number of terms in the progression will
be -
(A) 6 :
®) 7 ‘
© 8
D) 9

Qn7. If tanf+cot6=3
then tan?0 + cot9 = ?
(A) 7
“(B) 9
© 1
D) 27

Qn8. IfSin6 ~1=0,thenOwillbe- - |

Ay 0°

B) 90°
() 30°
(D) 60°

Qn9. A wheel rotates 100 times to cover a
distance of 88 meters. What is its
diameter?

(A) Tem

(B) 14cm
©) 22cm
(D) 10cm
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ue 10. w9 3 e, 4 W, 3R 5 o,

= 11,

g 12

gH 13.

TS T A T A I S
é?ﬁ-rqﬁaamwm%maﬁram
B -

(A) 1299

(B) 8T

C) 78

(D) 6T

A AU T R THITEAS X T

AR aeEed (3¢ — 9%) 313f
T U T TG (02 + 3X) W
U SIS B
(A) (X%+3%)
(B) (X2—9X)
©) (R +9%)
D) (X2 —3x)

qmmmﬁ'zoﬁma‘f%’uwﬁa
GTATR &1 HIER 135 § | Sram Wi
H 2 Trerterat Ul T | GUR T &
aTe we feremedt o wrwieR 35 96 TQ
qéqai%wamﬁmmgngamés
|TE WGATeRT S WIE R 20 ?
(A) 1355

(B) 136

©) 155

(D) 1345

o At T w20 Tl S
0 Ta § | afy sl @ e
& T 3t wm 3nen & e S
A 3 R il § S@ g AR FN 2
) 5
®) 10
© 20
(D) 40

Qn10.

Qnll.

Qn1x

, Qn13.

Three cubes of edges of 3 cm, 4cm, and
5 cm respectively are melted to form a
bigger cube. The edge of the bigger cube
will be - '
(A) 12cm

(B) 8cm

(C) Tem

(D) 6¢cm

. ILC.F. and L.C.M. of two polynomials

are x and (X* — 9x) respectively. If
one polynomial is (X* + 3x) , then
second yill be -
(A) (X*+3x)
B) (x*-9x)
©) (X2+9x)
(D) (X% —3x%)
There are 20 students in a class. The
mean value of their scores is 135. On
rechecking, two mistakes were found.
After correction, the marks of one
student was increased by 35 and the

marks of the other was decreased by
15. What is the mean value of the marks

after correction ?
(A) 135.5

(B) 136

(C) 155

D) 1345

Some people complete a work in 20
days. If the number of people is doubled
and work is halved, in how many days
will they complete it ?

(A) 5

B) 10

© 20

(D) 40
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W 14, R 3J3x3+3 =32 Fq|q Qnla, If 3J3x33 33 =312

a=? then a=?
A) 2 (A) 2
®) 12 B) 12
©) 4 Cy 4
(D) 0 D) 0
e 15, €T SreRfa W BO SR CO wuw: Qn 15, In the given figure, the angle bisector
LB 3R [ CHFwungs Bl x & of LB and LC are BO and CO
U FT R ? respectively. What is the value of X ?

(A) 120° (A) 120°
B) 130° (B) 130°
© 140° ©) 140°
D) 150° D) 150°

U 16, AE3A=4B=6CRMA:B:C  Qnui6 If3A=4B=6C then A:B:C wil

W BT - - be -

Ay 3:4:6 (A) 3:4:6
B 552 ® i3 2
C 6:4:3 C 6:4:3
D) 4:3:2 (D)‘4:3:2

g 17, ‘{TWFEET@ rqs W wufia sie Qn17. Number of axis of symmetry in an

Y - ' isosceles traingle is -
A) 3 (A) 3
B) 2 ®B) 2
© 1 © 1
@) 0 D) 0

NTSE-I 4




uw18.zr&a+b=2ai‘n; I_oa& '0n18.1fa+b=2and;+1b=2,then

+

23 + b? &1 W BT - ° a® + b® will be -
A) 1 A 1

B) 2 ®) 2

© 3 © 3

D) 4 (D) 4

g¥ 19 a”’r'gg‘ TRt u OWWW%W Qn 19. In the given figure O is the center of

PA, PB 3@a Tagl @ €14 circle and PA, PB are its tangents. If
" pA =8 ¥ s PO =10 TR & PA = 8 cm. and PO = 10 cm then what
A OB st | &I 81Tt ? is the value of OB ?

(A) 48
(B) 34
() 5%
(D) 64

e I o

(A) 20%
(B) 40%
0 25%
D) 8%

Qn 20,

(A) 4cm
(B) 3cm
©) Scem
(D) 6¢cm

-4% is equivalent to -

(A) 20%
(B) 40%

(C) 25%

(D) &%
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U™ 21.

U™ 22.

T 23,

™ 24,

e 25.

e gas W ST fora
*

(A) I T A

(B) SodH I HIGH

(C) a1 A1

(D) T HHE &

T s gd o 3T 8 m e 3R
i Se Y 3T 6 m e At farerat
o1 aRumy gem-

(&) 10m
(B) l4m

© 2m
O I3

T AT Uk Yahue W n mferat
F AT & A9 g Mell @
T M 1 afE et v o W e
A Y R T S B -

(A) mng

(B) mnv

©
D)

mnvg
mnv

T T T Yl hi Hag T 60
kg & T Qe @l g W SYHT a9
2 -

(A) 60kg wt

(B) 6kgwt

(C©) 60x9.8kgwt

O) I3

W T T AT 10% WA
IHeH! e Tt & et et -
(A) 20%

(B) 40%

©) 36%

D) T AFE TR

Qn 21,

Qn22.

OQn23.

Qn24.

Qn2s.

Angstrom is the unit used to express -

(A) Length
(B) Mass
(C) Time
(D) None of these

A man walks 8 m towards East and then
6 m towards North. His magnitude of
dis placement will be -

(A) 10m

B) 14m

©) 2m

(D) Zero

A machine gun fires n bullets per second
and the mass of each bullet is m. If the
speed of bullets is v, then the force
exerted on the machine gun will be -
(A) mng

(B) mmnv

(C) mnvg

(D) mmnv

A body weight 60 kg on the earth’s
surface. What would be its weight at the
centre of the earth -

(A) 60kgwt

(B) 6kgwt

(C) 60x9.8 kg wt

(D) Zero

When the momentum of a body decreases
by 10%, its Kinetic energy decreases by -
(A) 20%

B) 40%

© 36%

(D)- None of these
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TH 26.

T 27.

T 28,

9 29.

9¥ 30.

T U@ % e Tt o Uie A Sen
TR ol A B & A -
(A) FEdEi gy

(B) EHTG YOI asit & anfer ghem &
(C) ®HRI YRR 31 § A1 3991 foahfa

Eaail

(D) &I Y dTewRal Sl §

Teh WeRToT =t TR woeet <uur
30° ST SRI0T ST ATAFerd Bt & |
TS FHI0T B -

30°
45°
550
60°

T g FAam & R T w6 e
W i o A IO S T grelt
3

(A) ¥ERed

(B) ST

(©€) i erRed wft STy

(D) Torga Heerta a1
ST S AT SR -
(A) HX

®) fan

(C) Eig 3
(D) HT I FTH T B

i § | B v o e
Forst @ T | ey ferafer gon-

(A)
(B)
©
D)

(A)
(B) i
() TR
(D) &7

Qn26.

0Qn27.

Qn28.

Qn29.

Qn 30.

A fan produces a feeling of comfort

during hot weather because -

(A) Fan supplies cold air

(B) Our Perspiration evaporates
rapidly

(C) Our body radiates more heat in air

(D) Conductivity of air increases

If a ray of light incident on a plane
mirror is such that it makes an angle of
30° with the mirror, then the angle of
reflection will be -

(A) 30°

(B) 45°

(C) 55°

(D) o0°

When we pluck the wire of a sitar, the
waves produced in the wire are -

(A) Longitudinal

(B) Transverse

(C) Sometimes longitudinal and
sometimes transverse

(D) Electromagnetic

The unit of refractive index is -
(A) Metre

(B) Degree

(C) Dioptre

(D) Ithasnounit

Which of the following colour of light
undergoes the maximum deviation while
passing through a glass prism?

(A) Red

(B) Blue

(©) Violet

D) Green

NTSE-l




e 31, fax 1 ® p 3f Q & <= uftomt Qn31. The equivalent resistance between P

wferier g - and Q in Fig-1 will be-

A 7Q (A) 78

®B) 2Q ® 20

© SQ © 3 Q

D) 1Q D) 1Q

b —T %
z2A- 24 2/
¥ Ta-1 Fig-1 A
g9 32, ﬁ;{:ﬁw%w a7 vifert Qn32. The strength of a maghetic field of

o gig anit o1t - magnet increases when-

(A) Fordt fow M A | e e (A) The number of magnetic lines of
eI St et ol e H gy forces passing through a given area
2 increases.

(B) Herhia el @i v | gfg gl (B) Strength of the pole increases

(C) Yo ol & o= F g0 | gfa (C) Distance between the magnetic pole
Bt increases

(D) A SRB (D) Both A and B

Wy 33, wrang fey o fasor g - Qn 33. Biogas is a mixture of -

(A) CO+H,+CH, (A) CO+H, +CH,

(B) CO,+CH, +H,S (8) CO,+CH,+HS

(C) CO+H, (€ CO+H,

(D) CH, (D) CH,

U9 34, A, YRt 3iR AT Y h On 34. Onarranging water, sugar and oxygen
FON o Weq TR0 Eﬁa wh o in increasing order of attraction between
saftus fore s W fFrafatea ® their particles. Which of the following will
W e A - be the correct arrangement-

(A) e, SToTSH, FaFRL’ (A) Water, Oxygen, Sugar

(B) TS, TR, ST (B) Oxygen, Sugar, Water

(C) VIR, STTFdISH, S (C) Sugar, Oxygen, Water

(D) ST, Siel, TR (D) Oxygen, Water, Sugar,
NTSE-I 8




T 35

¥ 36.

U 37,

T 38,

g 39.

¥ 40.

. Trafafaa ¥ 4 % fevew yare
wefia wh -
(A) 9 & qrt ¥ frerm
(B) R faema
(C) VIR I e
(D) Tt

Wrfiforam @t Ty W 12§
T M RIW ¥ soraia w5 de
Bt

(A) T3
(B) W
© =
D) ¥

FARI % A TR &t g
TEAT 35 AAT 37 & T g A
T gt~
(A) 18, 20
B) 20, 18
© 17, 18
D) 18, 17

Fe O, +2Al —> ALO, +2Fe
iR sifrferan fra v o -
(A) daH

(B) faasm

(C) o

(D) fafaeemem

Na,SO, % Seita faeras &1 pH am
-

(A) 7

(B) 789 &H

(©) 79 aferm

D) T

12.044 x10® O, 33N it HET
. AN R & 2

(A) 8g

(B) 16g

© 32g

(D) 64g

Qn3s,

Qn 36.

Qn37.

Qn38.

Qn 39.

Qn 40.

Which of the following will show Tyndall
effect -

(A) Solution of common salt in water
(B) Starch Solution

(©) Solution of sugar in water

(D) Vinegar

The atomic number of Mg is 12. The
number of electrons in its M shell will
be -

(A) Eight

(B) Ten

(C) Two

(D) Zero

The atomic masses of two isotopes of
chlorine are 35 and 37. The number of
neutrons will be -

(A) 18, 20

(B) 20, 18

©) 17, 18

(D) 18, 17

Fe O, +2A1 —> A1203 + 2Fe

The above reaction is of which type -
(A) Combination

(B) Dissociation

(C) Displacement

(D) Double displacement

The aqueous solution of Na,SO, will
have a pH value -

(A) 7

(B) lessthan?

(C) more than7

(D) Zero

What is the mass of 12.044 x1023
number of O2 molecules?

(A) 8g |

(B) 16g

C€) 329

(D) 64g
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gyt 41, Weh dcd &l ‘sﬁﬂgﬁ%m 2,8,4  Qndl. Anelementhas electronic configuration
R W ATt % R 2, 8, 4. It belong to which group and
g adl AT = A §- period of the modern periodic table -
(A) e Teg qe = e (A) Third group and fourth period
(B) 9 g qe AR SR (B) Fourth group and third period
© <eEa TE adl e e (C) Fourteenth group and third period
(D) ©iEgd g a1 Y 3N (D) Fourteenth group and fourth period
s 42. Treafafea ¥ fea E‘l’%@l’ﬂﬂé’-‘ i Qn 42. Which of the following hydrocarbon
Trae aran S ?- have a triple bond -
(A) CHq &) CH,
(B) C3H4 (B) CsH4
© CsHe © CaHs
@) CgHg @) CHs
g 43. FgER % IS 3?,?{5“ ®- Qn 43. Obective of roasting of ore1s -
(A) e aﬁ@gﬁ HAT (A) Tooxidizeit
(B) 3V TgEfH HT (B) Toreduce it
© ST It St gl (C) Toremove volatile matters
©) AT CIAl @) Aand C both
o5 44, Prerfetgat d frud Rge Wae®  Quad. Which of the following has electrovalent
qgE - bond -
(A) 0, A) 0,
(B) GHCI, (B) CHCI,
(C) NaCl (C) NaCl
D) CCl, D) CCl,
g% 45. C,HOH & U H,SO 4‘{3( 443 KW Qn 45. The compound obtained by reaction of
arffeman & e Sr et AT 8- C,H,OH with concentrated H,SO, at
443 K is-
(A) C2H4 (A) 'C2H4
(B) CHSCHO (B) CH3CHO
(© CH,COOH (©) CH,COOH
(D) CH,COCH, (D) CH,COCH,
oo 46, Twerr, Fraffea A A fra@Ee  Qndé. Teflon is a polymer of which of the
&1 dgeich '% - following monomer -
(A) " RR LOIE] (A) Mono fluoro ethene
(B) T TIU W (B) Tetrafluoro ethene
©) T T A (©) Difluro ethene
(D) ¢T8 TRl T (D) Tri fluoro ethene
NTSE-lI 10
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o 47, e it i o st

Y 48.

U9 49,

T¥ 50,

g 5.

A Tew B § 15 T % =i
affea §-

(A) IURH

(B) O

(C) HIEH

(D) S T+l

A O T o i o e R
FRI 24T §-

(A) TR

(B) WM

©) A
(D) SRR

fegta & Tlieur W THERIRRIA
S @ T T -

(A) ST e A

(B) SHTd %ok

() S HATH

(D) T TeY (@) #

Frerferfiaa ¥ @ T S §-

(A) T, STE, TR
(B) T, TFERIVIIAe, SEI0H

(C) VT, 3T, JEh
(D) T, I, TvaTe

g aIfr=iigd R A GERT U
T HEY 3BT T -

(A) R AT~

(B) T H g&

Qnd7.

Qn 48.

Ecosystem comprises both abiotic and
biotic component. Biotic component of
an ecosystem consists of -

(A) Producers

(B) Consumers

(C) Decomposers

(D) Alithe above

In human beings suger level in blood is
controlled by -

(A) Adrenaline

(B) Eestrogen

(C) Insuline

(D) Thyroxine

Qn 49./Tn whittker’s classfication unicellular

= .
organisms are grouped under -

Qn 50.

Qn51.

(A)
®)
©
D)

Kingdom Protista
Kingdom Fungi
Kingdom Monera

Kingdom Plantae

Which of the following are simple

tissues -

(A) Parenchyma, Xylem, Collenchyma

(B) Parenchyma, Collenchyma,
Sclerenchyma

(C) Parenchyma, Xylem, Sclerenchyma

(D) Parenchyma, Xylem, Phloem

The best way to get rid of non
biedegredable waste is-

(A) Dumping

(B) Burying

(C) Recycling

(D) Buming

NTSE-I
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Ty 52. SR Qﬂi‘ﬁ‘m forem, o qwen Qn 52. Asha found a plant possess tap root and

'Gl':%y oft 3ﬁ'{ nﬁa@r 1‘4 Tﬂm fora reticulate venetion in leaves. This plant
foqeame o |7 dren B T - may be -
(A) Q?ﬁﬁa ‘ﬁﬁ (A) Monocot
B) et () Dicot
©) A asib (C) Bothaandb
(D) IR H aﬁé B ' (D) None of above
7w 53, fraffaa ¥ A fpmant e s Q3. Which of the following plays an
ﬁ ﬂ'&’aiuf ‘l{\ﬁlﬁl Brelt §- important role in nitrogen cycle-
(A) qe : (A) Yeast
(B) EZEER | (B) Nitrobacter
(SR (C) Mucor
(D) TRATER (D) Spirogyra
YT 54, e A1 8, TS T i - Qn54. Ginger is a stem and is not a root
because -
(A) 7 @R e Gfe g ( i (A) It stores food material
(B) T & g yaHiaEi tﬂ’&‘ ElciES (8) Ithas nodes and internodes
() Tod woishd &l 9T S | (C) Itlacks chlorophyll
(D) I8 ‘{fﬁ ¥ &fost g g (D) It grows horizontally in the soil

UY 55, (AT WA ¥ Sichled & Wad  QnSS. Whichorgan of the body is most affected

Cack) YR'T{ A | 3m Had by excessive intake of alchohal -
afirer yofera g &- |
(A) SHHERHE ‘ (A) Stomach
(B) WHS _ (B) Lungs
©) IF | ' ()  Liver
(D) e (D) Spleen
g 56. Frefefiaa & | foru dier & wmrre: Qi 56. Inwhich of the following plant generally
R (4 ‘I&‘W qrg vt ¥- rood nodules are found -
(A) e fid (A) Blackpiper PP
(B) WX (B) Pea
©) @~ (C) Onion
D) ¥ (D) ' Radish

NTSE-lI 12




9 57,

TH S8,

™ 59.

e fermrrsit et o aagrst
S WY R (HER) T e, @
| ATt gaf ST grm-
(A) 50%

B) 75%

© 100%

(D) 25%

Foreaferfiga o § foru aare =& g
-

(A) sfa=

(B) T

(C) &

(D) T

frar i & 2 o e
d B-

Ay e

T 60.

(B) TIGTgRT
¢ wd
(D)

dielf o ety (diNaTE ) T uHE
wrd Toret ot e T g

(A) SIS

(B) @i

Qn 57.

Qn58.

Qns9.

Qn 60.

If a heterozygous tall plant is crossed
with a homogygous dwarf plant, the
proportion of dwarf progeny will -

(&) 50%

(B 75%

©) 100%

D) 25%

Which one of the following does not
have valves -

(A) Auricle

(B) Ventricle

(C) Artery

(D) Vein

Which one of the following is not a viral
disease -

(A) Polio

(B) Mumps

(C) AIDS

(D)~ Cholera

The main function of phloem in plants
is the conduction of -

(A) Food

(B) Minerals

(C) Water

(D) allthe above

NTSE-I




g 61

G 62,

qH 63.

T 64.

g% 65.

T 66.

wiforet i faa &= o ufag fagm
%7

(A) SIS Td TR

(B) YR

(©) “fi fogm

(D) S for

T o1 et g, feheTeh siter got
an?

(A) T TS IR

(B) A UG TRETE

(C) TSI Td I IITE SFRTEA
(D) R T g Year

yreieEe ¥ 30 A R AW
AT AT a1 ?

(A) S

(B) uaEifa

(€ wifen

(D) TEehEr

HA-u-TeTE R TR T AT
worm g SRaT i o ?

(A) TEA '

(B) WHARE

(C) =

(D) WEFRH

‘gusitfa et Temar wm fora e ?

(A) TS STRISH
(B) S %
(C) e Hfm
(D) oé Aarstett

AT T g, el g AT ?
(A) § 1556
(B) ¥ 1755
(€ w1757
(D) ¥ 1857

Qnel.

Qn62.

Qna63.

Qno64.

Qné65.

Qn 66.

In which subject area was Panini a great
schalar?

(A) Language and Grammar

(B) Ayurveda

(C) Astronomy

(D) Biology

Between whom was The third battle of
Panipat fought ?

(A) Hemu and Akbar

(B) Humayun and Shershah

(C) Marathas and Ahmadshah Abdali
(D) British and Teepu Sultan

By which name was Iraq Known in
ancient time ?

(A) Babylon

(B) Abyssinia

(C) Syma

(D) Mesopotarmia

Who was the first hindu courtier
accepted Din-e-Ilahi- ?

(A) Todar Mal

(B) Man Singh "
(C) Birbal

(D) Bhagwan Das

Who tmptemented the do ctrine of
lapse ?

(A)" Lord Dalhousie

(B) Lord Vesley

(C) Lord Canning

(D) Lord Wellesley

When was the battle of plassey fought?
(A) 1556
(B) 1755
© 1757
(D) 1857
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UH 67,

UH 69.

™ 70.

U 68.

TR T T <Rt TNl ol 3 7

(A)
B)
(&)
D)
TieR S @ it A T
R § wifE ar?

(A) T SIS RTH

(B) Tt STFRReH

(C) FEEE SR

(D) ©foFd TR SR
WA S B el TR - O
fermtor 3 fora wanfa uma &t ?

(A) SRS

(B) wIeSTEl

©) vE g

@) T s

24 ITFZE 1945

02 3TFZSR 1945
10 feEwa 1945

15 3FRA 1947

frertf & 3 & o T W

Mgy e 3 T W ST AT A2
(A) SR, ST R gesl

(B) foieA, whid PR Wiferd €l

(©) T, T ik gest

(D) FWET, e swE

Qné7.

Qn68.

Qn 69.

Qn70.

When was the United Nations
Organisation established?

(A) 24 October 1945

B) 02 October 1945

©) 10 December 1945

D) 15 August 1945

Gandhiji’s famous “Dandi Marct” was
related to which movement?

(A) Quit India movement

(B) Khilafat Andolan

(C) Non Co-operation movement

(D) Savinay Avagya Andolan

Which ruler earned fame for road
construction in the medieval period?
(A) Akbar

(B) ShahJahan

(C) Shershah Suri

(D) RaziyaBegum

Which one of the following groups of
contries were known as “Axis Power”.?
(A) Germany,Japan and Italy

(B) Britain, France and Soviet Union
(C) India, Britain and Italy

(D) U.S.A., Britain and France

¥ 71, el o wAEE AERE A a? Qn7l. Whowas the fascist dictator of Ttaly?
(A) feeer ‘ (A) Hitler
(B) e (B) Nepolian
(©) FEfe (C) Mussolini
D) forerh (D) Bismarck |
g 72, ‘gﬁmaﬁﬁﬁ’ﬁmﬁm&m 'Qn72. ‘Open door Policy’ was declared to
¥ W SR gag T & . establish trade relation with which
wH S ? country?
(A) Tga TsT 3T (A) United State of America
(B) WM (B) Japan
(€) A (C) Great Britain
D) = (D) China
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9 73

™ 74.

T 75,

TH 76.

9™ 77.

U 78

R i LT WeATg T A 7
(A) 80° gt Swiw
(B) 81° Y&l qwiw
(©) 82, it witwl

@) 815° 9 2w

g 3o TR T & WEE W
87

(A) TEEd

(B) Fom

(C)

(D) ¥

"o VIea T AT SNV F 2
(A) e TE F Ta
(B) e T SR Yook 1Y
©) et g8 A gan
(D) AR Famd

I | HETEIT Heh 3T R FR1S
2 A W faafia g ?
(A) e

(B) TSI

(C) umEn

D) for s

forerifend § @ 9 |1 WA B 2
fod =i & ?

(A) TR A b

(B) SHiSIGT v ek

(C) TREHt a4 Uit vareg

(D) T T Y107 STYIRTY

Forifera o @ M W U WE it
wirew ¥ S fopar e @ ?

(A) 6, 2, TR

(B) I, TS, QfesEl

(©) T, TR T

D) T, WX, T

Qn73

Qn74.

Qn7s.

Qn76.

Qn7.

On78.

. Which is the standard meridian of India?
(A) 80°East Longitude
(B) 81°East Longitude

<€ 82 ; ® East Longitude
D) 8 1; 9 East Longitude

At the mouth of which river is the
Sunderban delta formed?

(A) Godavari

(B) Kiishna

(C) Kaveri

(D) Ganga

What is meant by the term ‘Loo’ ?
(A) Cold and dry winds

(B) Strong hot and dry winds

(C) Retreating Mansoon

(D) The Trade winds

Which Continent is divided into almost two
<qual parts by the Tropic of capricorn?
(A) Australia

(B) Africa

©€) Asia

(D) South America

‘Which one of the following is nat a tiger
veserve in India -
(A) Sunderban National Park
B) Kangiranga Natinal Park
(C) Sariska wildlibfe sanctuary
(D) Manas wildlibfe sanctuary

Which of the following group of crops is
grown in Rabi season?

(A) Raice, Jute, Maize

(B) Pulses Melons Vegitables

(C) Sugarean Tobacco, Tea

(D) Wheat, Peac, Mustard
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9o 79. 39 feet WOE & AW w4 & S
e W R ?
(A) Ze
(B) wfsife
(© T
(D) R
g 80. ‘e WM wE?
(A) BISE AR
(B) SIS | Fe arcl arger
(C) THIEEM
(D) B

o9 81, IH TS AW G A BIEIG
] dmAgae?
(A) STFIRII
(B) fa&R
(C) STUETS
(D) AT
o9 82, FreAffEa ® | i TR WA R
TorarCr TETE & w9 W A
Hrl § 2
() et
B) deRE
(C) hIcHml
D) WER
uoT 83, Wt feu 3w A fem §1

(A) ¥Rd
(B) T
(€) AW
©) =H

o 84, W et e seared & vl
et Bt ¥ 7
(A) e et
@®) @ fod
© weug fugd
D) el e

Qn79.. What is the name of the Hill station
which is not in Himalayas?
(A) Ooty
(B)  Darjeeling
©  Shimla
(D) Nanital
Qn 80. V\"hat is “jet Stream”?
(A) House boat
(B) "Fast blowing air currentof the upper
Atmosphere
(C) Warm ocean current
(D) Smallriver
Qn 81. Choose the name of the state which
" touches the boundary of chhattisgarh?
(A) Andhra Pradesh
(B) Bihar
(C) Uttrakhapd
(D) Telangana
Qn 82. Which one of the following cities has
emerged as the “Electronic Capital” of
India?
(A) Delh
(B) Bengaluru
(C) Kolkata
(D) Hyderabad.
Qn83 inwhich country is the Mount Everest
, situated?
(A) India
(B) Bhutan
(C) Nepal
(D) China

On 84, Which soil is the best for production of
Jute?
(A) Red Soil
(B) Black Soil
(C) Laterite Soil
(D) Alluvial Soil
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e 85. WRAT Wlaem MU |@iaem

AR~

(A) Fraffae yames 81 €
B) Tl T =TI
(C) TWIHI Fatwa

D) W?;ﬁﬁaﬁa@%%

YA 86, FIHAA H AN Tl FT RS & 7
(A) A B SPTEeRaT i foee

(B) VTG oht ATATRITE! R Feistor
(© Taurfasr aix HrefuTfernt i

T
D) I

T 3 A W ol e IR
TR I UfEre i o WA 8 7
(A) TR

(B) SurFE

(€) Tegyfa
(D) SemE Tege

U 87.

HHE form waTTat Suenton | uhmiteg
W s A g ?

(A) SIFE TR

(B) HHIFI JEIE

(C) 3forama y&arE

(D) Y% gEHT

vy 89. Tertifera o fore e Ty it wwareit
el it e @ 2 -
(A) SR
- (B) fwmm

© Yyfew
(D) i

Y 88,

Qn 85.

The Indian constitution is a Republican

constitution because it has ..... ?

QOn 86.

Qn87.

(A) anelected Prime minister
(B) afederal form of government
(C) aParliamentery supremacy

D) "an elected President

What is the importance of Public
Opinion in democracy?

(A)
)
©

Politcal awarenes among people
Control dictatorship of the ruler
Co-ordination between legislative
and executive

(D) All the above

Who can call the joint session of both house
of the Parliament and address them?

(A) The Governor

(B) The Prime minister

. (C) The President

(Gn 88.

Qn 89,

(D) The Speaker of Lok Sabha

-~

"
Which effective tool of the parliamefit
controls the council of ministers?

(A) Calling attention motion '

(B) Adjournment motion

(C) No confidence motion

(D) Asking questions

Which one of the following subjects is
included in the concurrent list?

(A) Trade

(B) Education

(©) Police

(D) Banking

-~ NTSE-li
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g 90.

H 91,

U 92.

UH 94.

¥ #r it Fratfaa wead ¥ el s
frerd wie wfgenedl & T smiEE
AR ?

(A) YR wd TE e

(B) aHE¥l

(C) TSHGHI
(D) Tt fagrE

AR Y AT T 21 T W R
18 o forer e ditem o fora
T ?

(A) 524

(B) 61af

©) s6dr

D) 92t

yeedy ¥ Wy, dwhs R
Wil TIET & T FEl
R e?

(A) W

®) =

(C) Hforaant

D) Ak

I 87
(A) T SR SiR 35 PRI

(B) TEGR 1 W 3N TR W

(€) 1 3R Goga I TS
(D) e d o a1

o faare § F vE R ?

() il frarel = fomtieRt

(B) &S YA W IFYEA

(C) TCARA Y AT I TrERE B
[CHEEau]

D) TR H Ff

Qn 90.

Qn9l.

'Qn 92.

Qn93.

Qno4.

In which system of elected bodies about
one third seats are reserved for
women?

(A) Panchayats and urban bodies

(B) Lok Sabha

(C) RajyaSabha

(D) State Assemblies

The Voting age was lowered from 21
years to 18 years according to which
ammendment of constitution?

(A) 52nd

(B) 61st

(C) 86th

D) 92nd

Which is the Headquator of the United
Nation Educational Scientific and
cultural organisation located ....?

(A) Rome

(B) Paris

(C) Mexico

(D) Newyork

When does the growth rate of Population

became very high? |

(A) Both the birth rate and death rate
remain high

" The death rate decreases but the birth
rate remains high

(B)

There is reduction in both
All the above

©
D)

What is meant by division of labour?

(A) Specialization of ecomonic activity

(B) Production on large scale

(C) Specialization of quantity and
quality of production

(D) Increase in Production
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T 95,

g 96.

U 97.

T 98,

w99,

A ot gfd W 3t ol war et
27

(A) ST

(B) a&gatl i

(C) =ftenl =t nlreferar

(D) T

W & oI 9Ra W AR weR
wTWE?

(A) o8l

(B) T &

(€) FH

(D) | Yeh
frifra o @ formes fore siems
visg Tawg =1 JuE fipar ST &2
(A) 3R

(B) 3o

(€) Torstett Tmm

D) FUIUR

SrrgE feam ufterd @ e smar
§7?

(A) 11 5T

(B) 11 37

© 11 S

®) 10 e

I QST ATAT F YUT 7898
A7

(A) I SRIgY st

(B) SSiiEA UH

(C) Y. ST e NEE

(D) Sy

Te 100, F=ifRa o @ B @ Hifte TR

TS ek 37

(A) TR ! 3k S o I T 8T

(B) SRt g0 9t srddamar @ w9
w1 e

(C) =Rl gRI G ik o I T

(D) Ffae 19 & 6 9"y

Qn9s.

Qn 96.

Qn 97.

What is inicreased due to the gap
between the demand and supply?

(A) Unemployment

(B) Price of goods

(C) Mobility of Labour

(D) Poverty

Which type of tax is land revenue in

India?

(A) Direct tax

(B) Indirecttax

(C) Income tax

(D) Customduty

“Hallmark” is used as a logo for which

of the following -
(A) Agricultural Products

. (B) Jewellery

Qn9s8.

Qn9%9.

(C) Electrical goods
(D) Milk Products

When do we celebrate “Population
day” every year ?

(A) 10™July

(B) 11™ August

(C) 11™January

‘D) 10™December

Who was the first President of the
Indian planning commission -

(A) Lal Bahadur Shastri

(B) Jagjeevan Ram

(C) Pt. Jawahar lal Nehru

(D) Indira Gandhi

Qn100. Which one of the following is the

most appropriate meaning of under
employment?
(43 Workers are not Paid for their work

. (B) Workers are working less than what

they are capable of doing
(C) Workers are working in alazy manner
(D) Workers do not want to work
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